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ESL Worksheet: Infinitive or Gerund

Choose the correct answer.

Q1 - Headmitted part of the conspiracy.

I:Ibe

to be
to being

Q2 - | wouldn't want to go back an employee now that | have been self-employed.

Dbe

to be
to being

Q3 - She confessed doneit.

D have
[ ]

to have
to having

Q4 - They'rewell on their way it.

D complete
to complete
to completing

Q5 - | put my successdown hard.

D wor k

to work
toworking
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Q6 - Don't underestimate their contribution things going- we couldn't have managed
without them.

L] get
D to get
to getting

Q7 - They've gone back it the old way asthe new system didn't work.

Ddo

todo
to doing

Q8 - | object .

D lie
D tolie

tolying

Q9 - When it comes people, he's always ready.

D help

to help
to helping

Q10 - | cameclose at him, but managed to control myself.

D shout

to shout
to shouting
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